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QUESTION 1

Which CLI command disconnects all subscribers on an ATM PVC? 

A. clear port 4/3.99 

B. logout port 4/3.99 

C. clear subscriber port 4/3.99 

D. logout subscriber port 4/3.99 

Correct Answer: D 

 

QUESTION 2

What describes the functionality of NTP when using multiple virtual routers? 

A. All virtual routers can act as NTP clients and servers. 

B. Only one virtual router can act as an NTP client and a server. 

C. Only one virtual router can act as an NTP server but all can be clients. 

D. Only one virtual router can act as an NTP client but all can be servers. 

Correct Answer: D 

 

QUESTION 3

An OSPF non-backbone area allows external routes to be flooded within the area. These external routes are
propagated into the backbone. However, external routes from other areas are not allowed to enter this area. Which type
of OSPF area does this describe? 

A. stub area 

B. transit area 

C. border area 

D. not-so-stubby area 

Correct Answer: D 

 

QUESTION 4

Which command is used on the local router to invoke a loopback mode on a remote ERX Edge Router? 

A. remote loopback 
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B. loopback remote 

C. loopback-remote 

D. remote-loopbaack 

Correct Answer: B 

 

QUESTION 5

With the following CLI command output performed on an LNS: show l2tp session L2TP session 1/toDenver/2 is up
Which two statements are correct? (Choose two.) 

A. This command was done on the LNS. 

B. This command was done on the LAC. 

C. The 1 defines the destination number. 

D. The 1 defines the session number. 

Correct Answer: BC 
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